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The observation method followed by Pavlov, Skinner, Thorndike,

Kobhler in their experiments is

1 Natural observation

2 Controlled observation
3. Participant observation
4

Non-participant observation
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Dispositional readiness of a person to respond to a situation, person

or object in a consistent manner is his.

1 Interest

2 Aptitude
3. Attitude

4 Creativity

2SS HORB8, 548 S S99 D& FOBE (HB)0BTEIS
BINE &0G RORES 938 98

1. OTAlSVIW

2. Des if"&iogéo
3. 290

4,

éo)zemeﬁ &§e§



The stage in which children can think logically when objects are

present before them and not in their absence.

1 Pre-operational stage

2 Concrete operational stage
3. Sensory motor stage
4

Formal operational stage
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To measure mental abilities one of the following intelligence test

was developed by Thorndike.
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This is not the characteristic feature of mentally healthy person

1 Personality integration
2 Adaptability

3. Emotional imbalance
4

A sound physical health
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A girl equally loves her parents and asked whether she likes mother
or father and to tell only one name. The conflict faced by the girl in

this situation

1. Approach — Approach

2. Approach — Avoidance
3. Avoidance — Avoidance
4.

Dual Approach — Avoidance
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Moral stage of an employee who tries to develop his organization by
feeling that it is his personal responsibility but not out of fear of

punishment by his boss.

1 6" stage — post conventional level
2 5" stage — post conventional level
3. 4™ stage — conventional level
4

3" stage — conventional level
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The hyper secretion of this gland makes a person dominant and

highly greedy.

1 Testosterone
2 Adrenalin

3. Thyroxin
4

Progesterone
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10.

According to Erickson Psycho social critical situation faced by the

child in his boyhood stage.

1 Trust vs Mistrust

2 Intimacy vs Isolation
3. Industry vs Inferiority
4

Autonomy vs Doubt
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Rajesh who reached his relatives house at lunch time telling that he
had taken his lunch even though he is feeling hungry — Defense

mechanism here is

1 Projection

2 Withdrawal

3. Reversing motive
4

Compensation
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12.

This stage is called as 'Accidental age' in child's development.

1 Early childhood

2 Late childhood

3. Adolescence

4 Old age
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The correct equation showing the relation between development,
maturation and learning.

1. Learning = f (Maturaionx Development)

2. Development = f (Mj

Learning

. Maturation
3. Learning =f | ———
Development

4, Development = f (Maturaionx Learning)
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The theory of ideals proposed by

1 E.L. Thorndike
2. W.C. Bagley
3. Charles Judd

4 Spearman
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Anitha memorized the concept "the pressure increases with the
increase of depth in water" by doing an experiment. The type of

memory is

1. Active memory
2. Passive memory
3. Rote memory
4,

Immediate memory
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16.

DejaVuis a

1. French word
2. Latin word

3. Greek word
4,

German word
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One of the following is a factor that affects learning positively

1 Fear of failure

2 Meaningful associations
3. Pressure from parents

4 Il health
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18.

The law of learning that encourages home work is

1. Law of readiness
2. Law of exercise

3. Law of effect
4,

Law of proximity
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Children, in general are scared of strangers who come nearer to
them. But children are attracted by the gifts brought by the strangers

and slowly get rid of their fear and develop affection. This is due to

1. Law of reinforcement
2. Law of extinction

3. Spontaneous recovery
4.

Genralisation
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19.

20.

In observational learning, the mental process of deliberate adaption

of another person’s (model) behavior by a person is

1 Identification

2 Internalization
3. Organization
4

Conditioning
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The person who opined that the higher mental functions leads to self

regulation in a person is

1 Vygotsky
2 Chomsky
3. Piaget
4

Skinner
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Sankar observed the action of an actor and behaved similarly in
college anniversary. Everyone praised him. According to Bandura
the reinforcement received by Sankar is

1. Direct reinforcement

2 Indirect alternative reinforcement
3. Self reinforcement

4 Variable reinforcement
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The tradition that emphasized learning by insight is

1 Behaviourism

2 Gestaltism

3. Psycho analysis
4

Structuralism
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23.

24,

The sequential order of stages in Individual Education Programme
(LE.P.) of Children With Special Needs (CWSN) Educational

programme
1 Teaching stage, Instructions stage, Confirmation stage.
2 Instructions stage, Teaching stage, Confirmation stage
3. Confirmation stage, Instructions stage, Teaching stage,
4 Instructions stage, Confirmation stage, Teaching stage
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Identification of mother among family members.

1 Discrimination learning

2 Motor learning

3. Problem solving learning

4 Verbal learning
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25.

26.

As per RTE Act 2009 percentage of allocation of seats for orphans,
children of HIV affected parents and Children with Special Needs in
the 25% quota earmarked to children of deprived categories in

private schools is
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In AP the number of Formative Assessment tests prescribed in an

academic year for a class.
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27.

28.

Following is not related to the merits of Continuous Comprehensive

Evaluation

1 Children become natural learners

2 Stress free learning takes place

3. Children become indisciplined

4 Collaborative learning takes place in children
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As per RTE-2009, the academic authority of the State responsible

for the development of curriculum and evaluation procedures.

1.
2.

State Institute of Educational Technology (SIET)

National Council for Educational Research and Training
(NCERT)

National Council for Teacher Education (NCTE)

State Council of Educational Research and Training (SCERT)
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The last step in counseling process

1 Offering suggestions to counselee

2 Suggesting solutions to the problem of the counselee
3. Establishing rapport with counselee
4

Taking information from counselee
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As per NCF — 2005 the correct statement with regard to ‘knowledge’

1. Importance need not be given to local knowledge

2. More importance should be given to bookish knowledge
rather than experiential knowledge

Importance need not be given to societal knowledge

4, More importance to be given to experiential knowledge rather
than bookish knowledge.
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61.

62.

63.

64.

English — Paper —I — Set - 6

Choose the correct sentence regarding the use of 'such.... that'.

1
2
3.
4

It is an interesting city such that we are going to visit it again.
It is so interesting city such that we are going to visit it again.
It is such an interesting city that we are going to visit it again.

It is an interesting such city that we are going to visit it again.

The judge looked into the details of the case.

The meaning of the phrasal verb 'looked into' is:

1
2
3.
4

turned into
observed keenly
wrote something

cleared something

Choose the model auxiliary verb that can be used to express

possibility.

1 should
2 must
3. ought
4 can

Choose the sentence that has a noun clause.

1
2
3.
4

What you say is not clear to me.
What is your name?.
That house is beautiful.

He is a man of strength.



65.

66.

67.

68.

Choose the sentence with a defining relative clause.

1.

The silk sarees are made in Benares and they are popular all
over the world.

The silk sarees which are made in Benares are popular all
over the world.

The silk sarees are made in Benares, so they are popular all
over the world.

Being made in Benares, the silk sarees are popular all over
the world.

Don't be too upset about it, ..............

Choose the correct question tag to complete this sentence.

1
2
3.
4

shall we ?
will you ?
should you ?

do you ?

Choose the sentence with a non-finite clause.

1
2
3.
4

Having done his homework, he went out to play.
He went out to play because he had done his homework.
He had done his homework and went out to play.

He went out to play after he had done his homework.

Choose the correct "Yes / No' question.

1
2
3.
4

You are a student ?

How will you know that ?
Do you think are you right ?
Do you think you are right ?



69.

70.

71.

72.

Siri got a good job by means of her own abilities and skills.

The meaning of 'by means of' in the above sentence is:

1 together

2 through

3. substitute

4 together with

If | had attended the function, I .............. wished him.

Choose the correct verb to fill in the blank.

1
2
3.
4

had
shall have
would have been

would have

We did not leave early enough.

'Enough’ in the sentence above is:

1 a noun

2 a verb

3. an adjective

4 an adverb

No sooner had | closed the door............ somebody knocked again.

Choose the correct word to fill in the blank.

1
2
3.
4

then
than
when

while



73.

74,

75.

76.

Choose the sentence that does not have an adverbial clause.

1. Nobody was free because all were engaged in some important
work.

2. Nobody was free since all were engaged in some important
work.

If you ask him, he will help you.
| have not met him but written a letter to him.

Choose the noun phrase with the correct order of adjectives.

1. A dirty black crow
2. A crow dirty black
3. A crow black dirty
4, A black dirty crow

"I lost my pencil. Have you seen it anywhere?"
"No, | haven't. When .............. the pencil?"
Choose the group of words to fill in the blank.

1 did you last use

2 you used last

3. have you last used
4

last you used

Walking makes you healthy.
In the above sentence, ‘walking' is :

1 a model verb

2 a present participle
3. a gerund
4

a past participle



77,

78.

79.

80.

When two actions in the past are clearly separated by time, the

earlier action is expressed in:

1
2
3.
4

the past perfect tense
the simple past tense
the simple present tense

the present perfect tense

The weaver said to Ramya, "Do you like this saree?"

The reported speech of this sentence is:

1 The weaver told Ramya he liked this saree.

2 The weaver asked Ramya that she liked this saree.

3. The weaver asked Ramya if she liked this saree.

4 The weaver asked Ramya if she liked that saree.

Gopi is an honest person. ................ honesty of Gopi is known to all.

Choose the article that fits the context.

Choose the conjunction that can be used to write a compound

1
2
3.
4

a
an
the

No article is needed

sentence.

> w0 e

even though

in order that



[ 81 - 83] - Read the following passage and choose the correct answers to

81.

82.

the questions given after

Today perhaps your only association with the word 'polio’ is
the Sabin Oral Vaccine that protects children from the
disease. Fifty five years ago this was not so. The dreaded
disease, which mainly affects the brain and spinal cord
causing stiffening and weakening of muscles, crippling and
paralysis — which is why | am in a wheelchair today. If
somebody had predicted, when | was the seventh child in a
family of four pairs of brothers and sisters, with huge 23
years gap between the first and the last. 1 was so fair and
brown haired that | looked more look like a foreigner than a
Dawood Bohri. | was also considered to be the healthiest of
the brood.

In his childhood, the narrator was:

1
2
3.
4

a weakling
very healthy
tall and slim

short and stout

In this passage, the word 'brood' refers to:

1
2
3.
4

polio victims
foreign children
children in the family

Indian children



83.

84.

85.

86.

The narrator was the seventh child in a family of:

1
2
3.
4

eight children
sixteen children
twenty three children

four children

A letter expressing condolences is:

1
2
3.
4

The following lends a structure or system to the language:

A W npoE

a business letter
an informal letter
a formal letter

an official letter

sentence length
word length
grammar

people who are non-native speakers

The following is not the feature of a language:

1
2
3.
4

Arbitrariness
Systematicity
Creativeness

Colourfulness



87.

88.

89.

90.

Direct method is also known as:

1. Natural method

2. Grammar translation method
3. Bilingual method
4.

Inductive method

The following language has been accepted as an Associate Official

Language in India.

1 Telugu
2 Tamil

3. Bengali
4 English

According to Psycholinguists, 'gurgling stage' is:

1. 11 to 18 months
2. 0 to 12 months
3. 0 to 6 months
4. 7 to 10 months

The following is the old English period:

1. 500 AD to 1100 AD
2. 1100 AD to 1500 AD
3. 250 AD to 252 AD

4. 500 AD to 1500 AD



91.

92.

KBSPR0 - D6 -1 -5 -6

If m=3andn =2 then the value of m" —n"

M=3308a5» N=2 @ans m"-n" B¥). Jeos
1 1

2. 2

3 -1

4 —2

Additive inverse of %3 IS

%3 Boo%), Bo5eS IS S0
T
5
2. 2
3
3. 2
5
4. 2
3



Sum of two rational numbers is 12. If one of the number is _?1 then

the other number is

Bock ESE3CD Vopge I 12. w0’ 258 _?1 @00

08°8 2603)5
1. 13l

2
2. 14=
3. 11t

2
4 12=

If four times of a number reduced by 5 is equal to 19 then the
number is
2.5 00y T8 4 T 00w 5 SRONS o8 19 5 SIS

es 260&)5
1 3
2 4
3. 6
4 7

If two supplementary angles differ by 34 then the angles are
BOED HDOIEE Slerre 2350 34 ©@ons es Slereen

1 108°, 72°
2 117°, 63°
3. 107°, 73°
4 130°, 50°



From the adjacent figure
£ACB is equal to (degrees)
D%, D20 ok, £ACB §
DITSHI0 (SRS’

1 57
2 67
3. 34
4. 43
If 8-5 _ -1 then the value of “x’
7x+1 2
8-5 _ -1 ONS X FBooY),. IS
7x+1 2
1 8
3
A
23
;3 2
13
. 8
23

In a parallelogram PQRS, PQ = 4.5cm QR = 3cm then its perimeter
(in cms) is

DIFOSY $S8Y=oS” PQ = 4.5 0., QR =320.20. ®an

T 52650 (0.20.08°)

1 18
2 15
3. 13
4 12



3 2 2 -4
99. If x= (Ej X(gJ then the value of x™

3 2 2 -4
X = (—J x —J 9005 X2 Fo0E), L0
2 3
-12
1 2
3
12
2 2
3
12
3 3
2
-8
4 2
3

100. Standard form of 0.0000529 is
0.0000529 B, (PSS B@d0

1 529 x 10°
2 52.9 x 10°
3. 529x10°
4 5.29 x 10-°

101. If the compound ratio of 5: 8 and 3 : 7 is 45 : x then the value of x
5: 8080w 3:7@23‘55‘0#5315@45%@0&)?6 X &%) IS

1 138
2 148
3. 158
4 168



102. If ¥9604 = 98 then the value of /960400 .
79604 =98 oS /960400 5ao§zr IRISUINT

1 980

2 908

3. 904

4 906

103. If the side of an equilateral triangle is ‘x’ cm, then its area is (in
sg.cms)

DI (BehEsn Bk 2ozS0 X 0.0, WanS )
ST§I0 (5.20.20)

L VB
2
4

2. — X2
J3

3. £x2
4
2

4, —x?
J3

104. Greatest common divisor of 24, 30, 42
24, 30,42 © {3\ 3“355%65 ARCAISINGL)

o o B~ N

1
2
3.
4



105.

106.

107.

Arithmetic mean of the first 100 natural numbers
0083¢3 100 26:7”&26021350 @O§S§JC§§S§JS§J&

1 9.5

2 505
3. 51.5
4 50.5

If the class intervals of a frequency distribution are 1-10, 11-20, 21-

30 then upper boundary of 21-30 is
2.8 25%6:@55 JgresS SO evodsoren 1-10, 11-20, 21-30 90208

21-30 5w§zr Q?bZ,SZPCS(%

1 30.5

2 20.5

3. 21

4 30

If the ratio of perimeters of two squares is 2 : 3 then the ratio of their
areas

00 WHHTre HepFrode ARG 2 1 3 @ons T JTog0
N

© B~ 0PN
A O N W

1
2
3.
4



108.

109.

110.

If length of the diagonals of a Rhombus are 10cm and 8.2cm then its
area (in sg.cm)

2.8 0028 BnY), ST FEIe 1020.2. 508050 8.220.0
GO T JTegE» (5.20.00.08)

1 43
2 44
3. 42
4 41

Median of the first six prime numbers is
FEE e (PETI0PgL SoEFHS0

1 6
2 5
3. 7
4 3

Difference between period and periodicity of 0.74

0.74 @Y, S5O DO @3Fe D Baw (SgErgosn)
1. 72

2 27
3. 74
4 22



111. The sum of the central angles in a pie diagram (in degrees)
2’ (pie) oS’ TodcsH Sero Indo (SRoS)

1. 180°
2. 90°

3. 270°
4. 360°

112. In AABC, if £zZA=3zB and 2C = 2£B then «B
AABC &° £A =34B 58050 2C =24B @00s «B

1 40°
2 30°
3. 50°
4 60°

113. A Rectangular sheet of paper is Sécm long and Sécm wide, then
its perimeter (in cm)

2.5 BEISOATTE SRS FEH 52 0.0, HOAw Few)

3% 200.20. B w5680 (20.2.08%

1. ].5E
15
2. 161t
15
3. 17
16
4 172

15



114.  Number of lines of symmetry for a rectangle is
2.5 BYSELHI0SD Ko FHS T D0y

1 2
2 3
3. 4
4 1



Paper-1 Set-VI Maths Methodology

115. “Mathematics is the science that draws conclusions” defined by

1 Aristotle

2. Benjamin Pierce
3 August Comte
4. Pascal

"Ke3SH08 S/ ATT0 Trad TR0 @l IKDoDSE.

1. 23S

2. BoZSS 230y
3. St §63eoo

4, if"‘ézyeg

116. The following objective that does not belong to Affective domain is
1. Characterisation
2. Organisation
3. Responding
4. Naturalisation
808 TAS® eraDIS0NOSH oS O¥FI.
1. e7°§s%§cieao / %@@;éé
2. ;55352:5:35
3. (ItIv[Claleinlate
4.  B5RES80



117.

118.

The educational value that does not belong to
classification is

1. Skills

2 Habits
3. Concepts
4

Appreciations

BRO SH55eH o Aoy

1 SYETF
2. L9 TIPEN
™
3. PARNINIOH)
4. €98)S5083 50

The last step in “Problem solving method” is
1. Verification of results

2 Organisation of the information

3. Preparing temporary hypothesis

4 Defining the problem

DB DO S HEBS” D58 FIs0
1 OO DOETEE0
2. RI;TOUR) S§IQE00BE0

()
3.  o°cr) O D050 SATDHTE IS0
4 b;éobgﬁo K)cgsi’)oﬁcéo

“Breslich”



119. The material that is not related to (O.B.B) Maths Kit.

1. Fractional Disc
2. Peg Board

3. Dominos

4, Napier strips

Kedes 235 (0.B.B. Kit) §° A& 3osdd
1. DI H|go
2 DR 5
Co
3. S
4 3205586 ‘;aééen

120. The academic standard to be tested through the following test item
“Write the numbers 12, 7, 10, 4, 1, 9 in descending order”.
1. Communication
2. Connection
3. Reasoning-proof
4, Problem solving
“12,7,10, 4,1, 9 DOPIOD 958%5e @moé’s (0370 SN
&8 oxoe $8305c50DS e DS

1. 55_%‘5)61560

2. £9:3000GPS0

3. SPTETR0 THYEO - AEPHeIn FOHEO
4. 26253@5 L3S



121.

122.

EVS - PAPER-1-SET -6
Senior Citizens Day is observed on
1. 1% day of October
2 15" day of October
3. 1°day of November
4 15" day of November
SEPSH &56953;507? BHYHI 38
L ofad 15 865
o828 155 B80S

550225 15 383

RN

550225 155 83

Insufficient exposure to sunlight leads to deficiency of vitamin
a) K b) B c)C d) D
Identify the correct answer

1 a and c
2 aand b
3. d
4 a

&% ¥O0eE o SKOE PS50 IOT B IS SN0 SWo8.

a) K b) B c)C d) D
808 aeQS® $B HSrErard) HBoE0d.

1. a S8aw C
2 a dasw b
3. d
4

a



123. The

124.

language spoken by "bonda" tribes in Araku area of

Visakhapatnam district is

1
2
3.
4

Gondu
Remo
Chencu

Kolami

DFPPEN0 DR WD (0SB0 “S0G 8 AdIDHEY ITTE AR

1.

L

R0
B°
WOV
8§

The substances with acidic nature will change ....

1.

2
3.
4

Red litmus paper to blue colour
Blue litmus paper to red colour
Methyl orange to blue colour

Phenolphthalein to yellow

23530 b5w50K@ DT, . .
™ @

1.

e N

DBy DS DI VO SorDH SrEy)Eros
ato) L D865 A BoKO% ST
WPE 8508 BoKHH O Bor% SrH)Erown
PTROSDH H0Y oKD SrEErown

—0



125. The reason for formulation of nuclear families is

A) Transfers B) Children Education

C) Job at new place D) Insufficient housing facilities
1. Aand B

2. A, BandC

3. A B,Cand D

4. Cand D

S5a 0w AEEEIS S°EE0

A) 28den B) o $ScHyen

C) &8 (3B¥08° &Ko D) 58P 1y Seaeasren
L. AXdcs» B

A B 508050 C

A, B, C 08a50 D

W N

C 8acs» D

126. Dr. Salim Ali a famous Indian Scientist did his research on

1. Plants

2. Birds

3. Reptiles
4. Mammals

B30 wrESBY TR @56 9o ed 23 985S DI

1. 3Jo§zre>o
2. Zsé:@o

3. 265335“@3
4. é&iw@o



127.

128.

The honey bee hive is built by

1.
2.
3.
4.

All honey bees
Male honeybees only
Female workers only

Male workers only

N De Keosd :oa&ozﬁzs

1.
2.

3.
4.

@) S3dKwo
SHK BISHen STSD

58 50 SeKen S
oK 50O Baen S

Global grain crop

1.

2
3.
4

Maize
Rice
Wheat

Sorghum

3{3@265@ D0

1.

W N

08, &)
58
Roe505%

03
2



129. The disease not caused by viruses is

1. Polio

2. Measles
3. Swine flu
4. Malaria

53 5‘36 DSOS T

1. OB
2. ey

3. ?955 RN
4. HBBos

130. The animal whose endoskeleton is completely made of cartilage

1. Frog

2. Scoleodon
3. Whale

4, Bat

PO ORI ©90STPRHNORT0 S A,
—0 o:) (] & — ()

1. §Z>°)

2. JEID

3. BAOKLO
4. K&)eo



131.

132.

The part of the retina where image is not formed

1. Blind spot
2. Cornea

3. Sclera

4, Fovea

JEHeo00 By s (oS0 (HSDowrws DYED.

1. eaoc‘,iiiﬁzr

2. HEIEHO0
™

3. n)letslele

4. Zazé)z:sﬁzr

Emulsification means

1 Breaking down of food material

2 Breaking down of large fats into small globules
3. Photolysis of water

4 Food movement in digestive system
D5:D)58e0 08

1. eSO SnE e B0

oS D) TEWHOOT® ROHE0

508 oo A JFAed

W

éésagmes* 33850 5S5O%
£9 ()



133. ldentify the renewable energy source

1. Thermal power

2. Atomic power

3. Gobar gas

4, Petroleum products

808 TS’ 9BWEBoDNT ¥ S5
L 3554

2. HESrendd

3. Kb S

4. D00 Dorgeo

134. The result of excess growth of Algae in water due to high

availability of nutrients is
1 Re-cycling

2 Fluorosis

3. Eutrophication

4 Bio-magnification

NES® ) S FPITO IS HreOM P IDBSON DEKEOSY
5OR SEGIFS0.

1. DIGIEK0

FED

™

SHIENRERNY

§D§;5°)Q

~wN



135. In this instrument electrical energy is converted into mechanical

energy

1 Electrical motor
2 Electric heater

3. Dynamo
4

Induction coil

DgHED aHo(EFET 55y eSS0
Lo D85S Imerdd

DergE e

B3

oW

30&ES SPaS

136. The ozone layer is damaged by

1 Peroxyacetyl Nitrate
2 Chlorofluorocarbons
3. Formaldehyde
4

Ammonia

L8750 P TS0 B FICHIO
L 208enss 3SS
§5°FS s G)oe
3"0"&2@5

@3?&200‘5?

WD



137.

138.

EVS - Social - 35 -1-2¢5 -6

The first part of the “inscriptions’ are called as

1. Preamble

2. Construction
3. Prashasthi

4, Page

PITOS’ 06 TR T BOOTD

L (P38
2 Qo° plcie
3. R

4. Do

The cultivation in the land embanked with push back waters of the

Sea -

1. Jhooming cultivation
2. Contour cultivation

3. Polder cultivation
4,

Intensive agriculture

R0EY A IEH oD Kden 58 & (Fosos” T
3§30

1. P> SFII A0
Key S§SRras0
:25825" ;sagasavofoo

e N

OIS JGI A0



139.

140.

Archaeologists discovered a large number of stone tools in Belum

Caves. These caves are present in this district

1 Kadapa
2 East Godavari
3. Kurnool
4

Anantapuram

SOIFIIOH JoBS BT 0°8 HIZ0LD YoSES PYISen
Bero KIS ST, B e &) Ber

1. EED

2 eﬁfd)o)ix'smssa
3. §d§3®o

4 IS0LHTO
‘Patla’ is

1 Village headman
2 District headman
3. Mandal headman
4

Headman for some villages

Her’ 28

(ep]

t—\

WQSJ?QCQS
2207908
[ep B o]

00N
Q

WD

£ [Firon DY



141.

142.

After years of struggle by people groups the Mahatma Gandhi

National Rural Employment Guarantee Act was passed in the year

1 2002
2 2004
3. 2005
4 2006

(DePd0RTen éo;ﬁé“‘)cl’o SB35208 22003 oy HOSsom
(MGNREGA) 535860y 08 8% (e &R $5¢0
935000 5°8 SO)S HoSS)50

1. 2002
2. 2004
3. 2005
4. 2006

As per the Andhra Pradesh Land Ceiling Act — 1975, a family with 5

members can have a maximum of

1 10 to 27 acres of irrigated land

2 35 to 54 acres of dry land

3. 10 to 27 acres of irrigated land and 35 to 54 acres dry land

4 10 to 54 acres of irrigated land and 27 to 54 acres of dry land

e30(PPBT NS TGO 1975 (S50 900K Habgens)
6200200 K8ROM SOHE SRS 25

1. 10 5008 27 JEoen DRSHN &) &
2. 35 5008 54 500 oéyard

3. 10 5508 27 BT DRIHS é:g) 2P S$H8A3 35 Sood 54
Q80°© &%aaa;irib

4. 10 5008 54 J5oren BSOS &) 2D A
27 5008 54 IS0 Doeaied



143. Which of these offences come under civil law

144,

1
2
3.
4

Taking dowry
Murder
Divorce

Theft

308 FAS° FosK0 ($085% 5T o

1.

L

SoEEN0 Sw&sso
Z5°e§5
ATREION

QPO0K3S0

Which of the following is not found in the central list

1
2
3.
4

Telephone and postal system
Defence and military forces
Agriculture and irrigation
Banking field

808 3JS° oS &S’ B e0¥Sw

1.
2.
3.

BOFPS, Sarer 3§53
55er 30005 PRBETEeD
SgSI A0, D KD

a7°§o§oﬁ SoKo



EVS Methodology - PAPER -1 -SET -6

145. According to L.L. Bernard this is not included in Social and Cultural
environment.

1. Weather

2 Society

3. Economic conditions
4 Political conditions

&, 5. BoYS (BS80 FoE, FoR)BE DB¥TOS’ BYEAD
1. Rtz nTeforTe)
2 D37°230
3. €388 D8V
(©) ()
4 orzsdasy DO



146.

147.

‘In your opinion, who is a healthy person?' - This question belongs to

the academic standard:

1. Experiments — field observations.
Information skills, projects.

3. Communication through mapping skills, drawing pictures and
making models.

4, Appreciation, values and creating awareness towards
biodiversity.

RV BRS” EFIOSE ISH? -6 (HY) 308 ATYRITEIT0S
D022080VIB.

1L P&Erres, §E008oses
2. PNV Lo SYETGE, @"ﬁ%w

3. D6 PyeTgen, F'e0 AchEo, SHrares SSSrihBhE0
YO GBI T0

4. (DYOD, DenSen, BSIIHF0 D& VYT FOAIoLEe0

One of the following topics is taught only in Science

1 Minerals resources

2 Inventions during a dynasty
3. Electricity

4 Migration

208 S° 2.8 @0%0 2)23;:6%“’@068 S| S Q0D
1. DI 53BN

o°2350%0 oos® €35y Teaen

0§y

W N

SOJen



148. One of the following is not the characteristic of deductive approach

149.

1.
2.
3.
4.

No scope for reconstruction
Lengthy procedure
No scope for logical thinking

Memory is needed

808 2S° 2583 IKDHI &DADHO ©FE0 S°%.

1.

- W N

SORSVIGALC VRS S Glat)
Kwég A0
&°0).§ IR TCPOL) 9S5SF0 BCH

THEFE 95580

One of the following gives most abstract experience than exhibits

1.

2
3.
4

Radio recordings
Models
Demonstrations

Dramatization

808 FAS° DY 5T7) JDYS VI SJLTYT)D

1.

2.

3.

4.

BERe 83"202‘?‘)
SoeTeen
@6569:600

e &55e30



150. The question related to the Academic Standard 'making hypothesis
IS

1. Give examples for flowering plants

2. What is sublimation

3. What will happen when the shape of all the teeth is same in
the mouth
4. How can you prove that air exerts pressure

308 TUS° BOE)So BahEo ©F IYHITETIS TodS HE),

L DN Iy o &oreen o°ook

ESBIT0 908 Ded?

SESD Sosro) &8 57808 &o8 ISTH00?
O3 HES0 &0 e AETHIH?

oW N



